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[1]Multiple choices iF #4& (60% = 4£= &)

B A E T EREIS hF

2. Tl KA AR R ARk R f?
A) % ;& Star topology
B) & Ring topology
C)  #,¥ Bus topology
D) 7 #&ITAR @ﬁi%l
E) RG58 4&8f 442 Fm

3. MTE i K AT A 2
A T1
B) T3
C) WAL
D) ®#E4

SR

4. Middleware # 4 $rfeni B ¥ ik 5 P? 7 APM TR ER SN, o, B RN RER LR, 5, A2 TR
AR AN S I S S S

A) "o
B) epn
C) @A
D) 2z A
E) ¢p”

5. FL M it &2 % # BPS < v 2

A) % F
B) #E
C) +#%
D) e
E) #¢
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6.7 & 2 ATRIFB I TR DT R ) Mg B ORR AR A ek SR N R A ?
A) T3 Parallel
B) X ¥#:pl:E Pilot
C) rEEE  Phased
D) >w  Plunge
E) 1+ % &_ All of the above are correct

T AT S AP, AT R BT R T S A 47
A) EET F1E

B) #HiFv 7%

C) #Hir¥ A4+
D) =¥ it
E) ¥&7 if

BILK L3 AR IRGNL MY 3 & 45T S K2
A) PR
B) »MHis
C) * kHis
D) & &M
E) B

9. *EE- BREAF B REULATOAE S N ATARRE LR MIrpRE Y fERL
A) ¥ {744 47 Feasible analysis
B) &t &R 4 45 Sensitivity analysis
C) iR Forecasting
D) 3k 417  Hypothesis analysis
E)  None of the above 12} % 2t

10. % OSI #=73] § # gepe+ rib g hf = 57
A) F %% Physical Layer
B) &* & Application Layer
C) FsE A& Session Layer
D) f@ﬁi%lé; Transportation Layer
E) 7k Data-Link Layer

11. =7l F 2 2= & &5 A E (Secondary Storage) :
A) A 7 Hard disk
B) k@t Compact Disk
C) Pt Ram
D) ®& % &% # Magnetic Tape
E) @ E_ Allof them are secondary storage

12. Trle ¥ AR TS e 7, B Time; ¢, & 4 Cost; i, #)3¢ Form; =, p % Content:
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A) z7p

B) "¢
C) 95,:5—:
D) ¢~
E) 9,7:,'1

13. T @ ﬁ S IR RS 3 K

A)  Windows NT

B) Visual C++
C) MSOffice
D) Linux

E) 2 w2t None of the above

14.DBMS i & # & % @? 7, Database B 3 ; ¢, Database #x f#; [, Database saz&; =, & * #25% i o B8, ~,

Database % 33

A "z@-
B) ep”~
¢ "p7
D) 72z 3 A
E) e¢p”

15. 3 B Primary Key 4y it i@ ﬁ % o2t?

A)  ERENTREY ) i - {5 BT pE, ¢ R I UE % 1 o0 Foreign Key

B) Primary Key &/ fip b s B £ 4@ @ € 4p Fr

C) GMBMAFTHES, & ¥ ks BLRIF LT - B Primary Key

D) Primary Key -7 + & - f& Attribute

E) Primary Key = % 1 % 31

16. - BY > FARHTHEGT LS

A) 1Bit
B) 2Bit
C) 1Byte
D) 2Byte
E) 2BPS

17. Ms Exchange Sever i - #&:
A) e gt
B) A #cwd
C) siz-grid
D) 7R A EAzst

E) =% A2 kit

18. #-p AR G AP R A UPERE Y
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A) Data

B) Information
C) Knowledge
D) Program

E) Decision

19. CPU &1+ €3 & § T 7in %7
A) BT Tladg 4
B) fi7hmgl
C) dp 32 pglde i
D) #F et ¢ BASLERL

E) "“#PEaogs

20 %40 A R oA FE R RE K & 0T, BEATF AR e AR
A) T A

B) @& 4

C) &irs+
D) ##= 4
E) 2% <4

[3] Answers and Questions (f§ & 4% 40%)
A fEfEP3) £ % » o %k (Enterprise Portal ) (# & 35p° ¥+ 13%)

B. B T ;& ¥u (information systems) =2 <% o (12%)

C.imhsiami gk & (SDLC) #E By » «hI ~ @z Hip A - (15%)
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